BEWEE L EX (2)

BEEE (1) (2) wr 120 BEEE (3) (4) wr 120

1400

700

X EHBEY X EHEBEY
A-A A-A
2500 540 2100 560
HEEE (2) 300 1900 300 | 440 &k HEEE (4) 300 1500 300 | 450 11
a2V — hEEEL=100 HEEE (1) V9 — FEEEL=100 BEEE (3)
\ /] N | /1
VA KiEY (D) VA KEY D)
g ] #8 L (R g ] #8 L (R
7,
§ A7 D=2. Om3 § 5 s D=1. 4m3
= 2/ o R=1. 8m3 = 3 R=1. 9m3
— \Qggy g g =
re) w5
: : : N 1
L W 2 o (=}
Lo,
1000 1000 1000 L 1050
B-B B-B
2500 540 2100 560
HEEE (2) 300 1900 300 | 440 10 HEEE (4) 300 1500 300 | 450 11
a3V ) — FEEEEL=100 BEEE (1) a3V ) — FEEEL=100 BEEE (3)
N /| 7 D=1. 4m3 N ; / D=1. 1m3
(=] - (=] —
g e / / - R=1. 8m3 g - 0 R=1. 8m3
l_ s 3 =) " § 3
: : SNNARE
g 2 g 3
2 X 8
650
700
TEH - E B
fiER 1:250 fiER 1:250
R (1) PEEE (3)
18U R
V=(0. 300+ (1. 000+0. 650) /2) /2 V=(0. 300+ (1. 050+0. 700) /2) /2
x (1. 400+0. 700) /2 x 11. 50 x (1.500+0. 800) /2 x 7. 00
=6. 79m3 =4.73m3
JEEE (2) HEEE (4)
18R Y EERED
V=(0. 300+ (1. 000+0. 650) /2) /2 V=(0. 300+ (1. 000+0. 650) /2) /2
x (1. 400+0. 700) /2 x 10. 70 x (1.400+0. 700) /2 x 6. 10
=6. 32m3 =3. 60m3
FELT EELT
REY FRIE Y
V=(2.0+1.4) /2% (11.5+10.7) /2 V=(1.4+1.1) /2% (1. 0+6.1) /2
=18. 87m3 =8.19m3
BREL HREL
V=(1.8+1.8)/2x (11.5+10.7) /2 V=(1.9+1.8) /2% (7.0+6.1) /2
=19. 98m3 =12.12m3
I % 4 EE0ERESRIEELS
B @& & #HEDRELHEDRE(2)
£ A B SM4E3AR
& R 1:20 ‘ HEES ‘ 15
= # 4
BEEAR WHRAEREHERES




